K3930V2N

M5 WASHER (9PCS.)

M5X12 SCREW

@6mm L-750 (1 PCS.)
@6mm L-650 (1 PCS.)
@6mm L-550 (2 PCS.)
@g6mm L-350 (2 PCS.)

M5X8 SCREW
M5 WASHER

TPS11 EARTHING BAR

M5 NUT(4PCS.)



K3930V2N TECHNICAL DIMENSIONS

Front View Side View Rear View

L 170.0 -J 8.0 154.0

Top View
3.0

B RV EE TR

Front
Isometric
View

Bottom View

D o g g G



